—~ I 3 Y

PPe | 0 |

TNPSC GROUP | MAIN - 2023
PERCENTAGE TEST

Uifley — oI
SECTION - A

GMILILy:

i. @elGeurp aleamalB@l 150 CFMBEEHsHE WSTOe0 allenLUlerdoaseaL.
Answer not exceeding 150 words each

ii. @aleurm alemalBEL LSS LALICLEHISET.
Each question carries ten marks.

iii. OarTBdaUU.[Beiten WMbFH alamsbseied aamalGUEID BT alMSDEHHSES
LG el weflssab
Answer any four questions out of five questions.

(4 x 10 = 40)

1.  Answer the following Questions.
LesTeu(BlD aMlenTTdhBEhdbE alenL 6.
A. In a class of 50, 23 were girls and the rest were boys. What is the percentage of girls and

the percentage of boys? (5m)
50 Guit Q&mewIL @@ auGLLled, 23 Guit LoTewIalsEe6lT, LOBBEUTHET LOTEUTEUTHET 6I660, LOTENIE,
LorenialseMell FHAIHRIBHM6NDH HT601H.

B. Gunpowder contains 75% nitre and 10% sulphur. Find the amount of the gunpowder
which carries 9 kg nitre. What amount of gunpowder would contain 2.3 kg sulphur?
GaugiombHed 75% Geuguiigd 10% &hHHHUD o _6itengl. 9 HGeom  Geauguiienl  GETewTL
CaugmbIHeT  eTemeud  STewid. 2.3 ST  FHHEHMDH 6HSH DeNe]  OeUgLOHHSI
Qbmemg(hHab@L? (5m)

2. Answer the following Questions.
LeTeu(BlD aMlenTdhBEhdbE alenL ier.
A. The population of a village is 32,000. 40% of them are men. 25% of them are women and
the rest are children. Find the number of men and children. (5m)
R  PITSHHST  dHHeT  OHTMs  32,000. Seuiseiled 40%  oueNIBeT.  Sleuiseied  25%
QuewtdelT  LOBMID  BH(LPETENEUTHET  GHHMBHET.  SLEWIH6T  OBEWID  GHLHDSHH6ieur
GTGNTENN M HENUIES  SHIT6I0T1Eb.

B. If a number x is 10% less than another number y and y is 10% more than 130, then find
X. (5m)
X eei etewt Y eitiB erewriemewt el 10% @enmbaID, Y ees eTemtenflenr AL 130w el
10% oiHswisad EHbHDTEO, X-65T HLIL| HTewd
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Answer the following Questions.
Heteu@pld elembsEndd alenLwiefl.

A. If the price of Orid dhall after 20% increase is X96 per kg, find the original price of Orid
dhall per kg. (5m)
20% o2 wiasGll LB 2 @psHsd uUGLlar ealemev @HBsumash@ 96 eeled, @@  &Geom
2 @EpHIHID LHLLIGT DIF6L alenevsdUld SHTewIHb.

B. In a leadership election between two persons A and B, A wins by a margin of 192 votes.
If A gets 58% of the total votes, find the total votes polled. (5m)
Qb Hwevmamlsh BCHTHOHBHGW BFHTHellsd A Bmid B ol &m mpuTseied A
st 192 aund@sen alsHunsshdleo Geumpy GUBIADBTT. OCTeHs ansGselsd A SieTeuT
58% g1 QUEIFBIT eI@ley, LHeuTer GLOTHS EUTHGHHMEND HTNWID.

Answer the following Questions.
Heteupld elemebsendd alemLWierlfl.

A. Lalitha took a math test and got 35 correct and 10 incorrect answers. What was the

percentage of correct answers? (bm)
0IBT @ HWHdH Bxfaled 35 sflwmen wBBID 10 SHeupter aflenlsenenll GUBBTT. &iflwimer
LUGlevseilell FHAIHLD 6TeleuenTey?

B. The value of a machine depreciates every year by 5%. If the present value of the
machine be Rs 100000, what will be its value after 2 years? (5m)
% BuUbSISPHS I @AILaTH DBL 5% SOBIHBIH. BUbSTSHE SHELTMHW
Uy apuTus 100000 eTeied, 2 SLIBGHEHSHGL LIBEG DiHen WG] eleiereurs SHbGHWD?

Answer the following Questions.

Heteu@pld elembsEndd ol ulefl.

A. Silviya’s income is 60% more than that of Sherin. What percent is Sherin’s income less
than Silviya’s? (5m)
Fevalwimelesr  auoTard Gagflwesr ol 60% oiFHsD.  Sevalwmeales aumwLTOISHmS il
OCegifleflell GUHLOTEID 61HBHMEN FHAIFHLD Gewme?

B. If the difference between 75% of a number and 60% of the same number is 82.5, then
find 20%of the number. (5m)
am oeveniear 75%E@ 98k eaveniar 60%S@D 2 sen  alsAwnFd 825  eleflen,
oremtenflest 20 %0 SeutL_SlwayLD.

Ufley — &
SECTION -B

SOIILY:
1. @elleurm elemalB@lh 250 CFMBaEnHE WETosd allenL wiefldsab.
Answer not exceeding 250 words each.
ii. gealCeurm elemalB@L uSHmenbdsl LLHICLIHTISEI
Each question carries fifteen marks.
iii. OaT@daslUU.[Belen wHFH alambseisd amaGUEID BT ISIMSDSEHHES
LG alenLwelésaLb.
Answer any four questions out of five questions.

@ x 15 = 60)
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6. Answer the following Questions.
Leteu@pld alambasEnd@ allenL w6l

A.

A man buys a house for Rs.5 lakh and rents it. He puts 12% % of each month's rent

aside for repairs, pays Rs. 1660 as annual taxes and realizes 10% on his investment

thereafter. Find the monthly rent of the house. (7.5m)
QBT @ aflemL ¢ 5 @V FHHBEG UM DiGHmeT aUTLmHHEG aBHBIT. DieUaISHSE

1
QUL TH LS GCETensuied 125% L& umréds LweaLbGSaidpnT. Guald Sigled h

1660-3 &by llBEd eaupL eauflwres OCFaSHBBIT. Semeu  6l60eTD  CLOTHHLOTH
SleummLW (pHeSiged 10% etanlled OTHeUTL WS 6T6ileU6T6Y?

A Man spends 40% of his income for his food, 15% for his clothes and 20% for house
rent and saves the rest. How much percent does he save? If his income is Rs. 34,400 find
the amount of his savings. Find the amount he spends on each item? (7.5m)
QmauT S eumLTRBH 40% o anadbstsaun, 15% o eoLéstsad  20%  ef(
AUTL&HBTHAD  CFevualhdaprT. WHew Cxullddament. oeuT eurporend op 34,400
aalle0, SleuUT eTeleuene] CFISHIBIT? @aOUTSNIBGSGL Sieu] GFevaNSGLD OCFHTmHMmUIS
BITEIE.

7. Answer the following Questions.
Heteu@pld elembsendd alenL w6l

A.
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Pandian and Thamarai contested for the election to the panchayat commitee from their
village. Pandian secured 11484 votes which was 44% of the total votes. Thamarai
secured 36% of the votes. Calculate (7m)
QH FHIModHHed Geul LmenTaenTen LTewNgUle LOBHBILD ST S(hHeuhd oyl gl LOGIIBS
BxpT1aHeded GumiuilLerm. o0 utewngwiest 11484 and@ser GuBpTT. B& Orhs
& seflled 44% Su@b. FHTwed] 36 % auTdGHHe QUBMTT. 6TeNed

(i) The number of votes cast in the Village
aTeHG SielHHeuTHeNen cTeuTemnidbend 66lal6T6,?

(i)  The number of voters who did not vote for both the contestants.
BHUBHISGLD aUTHEG DI6HBTHTH6M6I  61600T6m01HMS 6161161616 ?

(iii) The margin of votes win by Pandian
LITERNQUIGH 6161666 6UTdh@ aldHHwngshdle0 Geumnl GLBTT

A candidate who gets 36% marks in an examination fails by 24 marks but another
candidate, who gets 43% marks, gets 18 more marks than the minimum pass marks.
Find the maximum marks and the percentage of pass marks. (8m)
om GBxialed 36% wHICUeGSHET QUBB @M GCajeau] 24 WAIOUETSH6T  all&HHUITF 60
GamevalwenL ATy, opemmed  43%  WwHIGUeEIHeT CQUBB  WHBOBTH Gy  G®BHIHULF
BxiFd wFHUCuemdemen el 18 WHICOUTIHT DFHHD CUBIBBTT. HHBULF 1DFHICLICHTIH6IT
wBpIb CxiFd WwHUICUaTIRlET FHalsHmdd el lweL.
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10.

Answer the following Questions.
Heteu@pld elembsEndd alenLwiefl.

A. An alloy of tin and copper consists of 15 parts of tin and 105 parts of copper. Find the
percentage of copper in the alloy? (5m)
SEHID OBDID STOTD FWeuBBlen HevameuTardh HBTSHHe 15 UGHBMeTUD, SHTLOTSHS 6t

105 ugdHsmenub  OsTawiBheTendl.  Hevemeuuled o 6o STOTHHGT  FHAIHHMBD
SewiLmlwe|b?

B. If the numerator of a fraction be increased by 15% and its denominator be diminished
by 8%, the value of the fraction is % Find the original fraction. (5m)
QM  Lleiengdges CxTeHOW  15% SFHsfHH, DFET UGHmW 8%  (GHMBSHIHT6V,
Letenrgh&ledt oG] % aTefley, DIFeL LITISHmBHd HTewIHb.

C. xis5% of y, y is 24% of z. If x = 480, find the values of y and z. (5m)

X ezl Yy et 5%, y elewiug z Bear 24%. X
FITEWIb.

480 eteolled, Y LOBBID Z B6T WOHILILBHM6ETSH

Answer the following Questions.
Heteu@pld elembsendd alenL w6l

A. In an election between two candidates, one candidate secured 58% of the votes polled
and won the election by 18,336 votes. Find the total number of votes polled and the
votes secured by each candidate. (7.5m)
®yewi GoaulumenTsensd BB BLbH CHTHe60, e@p Geulumeny LHeumer euTsHEGHdH6i60
58% Oump 18,336 eund@@en alHHUTESH0  Geunpl QUBBT. GCLTISHSLTSL  LIFeuTen
AUTSHGHP6T LOBBID @616euT(H Coul Lmen(hé@h HewL S H UTHEGHM6NS  HEILSIUIALD.

Vanmathi purchased some parrots. 20% flew away and 5% died. Of the remaining, 45%
were sold. Now 33 parrots remain. How many parrots had Vanmathi purchased?
auTeniogy Slev dlaflaemen eummidlemel. 20% UBHSH CFSIMH LBBID 5% BBHSHSI. LBSH(IpsiTer,
45% elpuenerwtergl. SUBUTEH 33 HleflseT  erghdlujeiTener  eTeled,  GUTEIDS  6THFHeNET
Heflaens eummIEenmeiT? (7.5m)

Answer the following Questions.
Heteu@pld elembsendd alenL w6t

A. Out of 8000 candidates, 60% were boys. If 80% of the boys and 90% of the girls passed
the exam, find the number of candidates who Passed and the number of candidates

who failed. (9m)
8000 GBzijey erpdHGaumfled  60% Gui wrewauTHeT . Cxialed 80% omewieuTHEHD , 90%
wrewialsepd  CxiFd  QuBBphaTen, BaiFd  CuBmeusefler  eTewenildemaenuIuLLD,

GxpmevalwenL b BoiTeuameedr 6166wl dbem&BENUILLD &6mTL3lLGYLD.

Roja earned X 18,000 per month. She utilized her salary in the ratio 2:1:3 for education,
savings and other expenses respectively. Express her usage of income in percentage.
Gyregr wrsd X 18,000 FHUTHSST]. S HAIG FOUNHMS (WOBGW  SHeval, Gl
BB BFHT CFeveysEnsG 2:1:3 6am aldHHHHe0 LWETLBSHH T 6leled, 6UIHLOTEISHMHL
LWSTLUBSSHINMS FHAIBHHH 60 BT, (6m)
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